
Sliding-carriage 
panel saw

© 2014 August Home Publishing Co.



It’s the hassle-free way to cut  
plywood. And it has features  
that will save you time and money.

An easy way to break down sheets of plywood is on a panel 
saw. The trouble is, these saws can cost a thousand dollars 
or more. But besides cost, most panel saws take up a lot of 
wall space. That’s because the saw carriage is fixed, so you 
need ample room to load and unload the panel. And for rip-
ping, that means you’ll need a full 8' on both the “infeed” 
and “outfeed” side of the saw. 

But the panel saw you see here solves both of these problems. 
First of all, you’ll save a lot of money by building the saw yourself. 
(Ours cost less than $350, without the circular saw.) 

And second, once the sheet of plywood is in place, it never 
moves. Instead, a sliding carriage guides the circular saw so you 
can make both rip and crosscuts accurately.

dream shop
project

Rip Cuts. When ripping 
sheet goods, the saw 

slides along the top rail
for smooth, easy cuts.

1	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

sliding-
carriage

Panel Saw
sliding-
carriage

Panel Saw



Exploded
View Details
OVERALL DIMENSIONS:
120"W x 70"H x 18"D

cam clamp quickly 
locks saw carriage in 

position for 
crosscuts

cable clamps keep power 
cord out of your way 

during cut

top rail made from 
10'-long emt 

conduit

t-track guides
saw base for 

smooth, straight 
crosscuts

support grid 
made from 

“two-by” stock

replaceable 
dowels support  

sheet stock

adjustable 
leg levelers 

support 
weight 
of saw

rip 
Scale

 springs 
support 

weight of saw 
for better 

control

section of
t-track provides
solid mounting

point for 
springs

knobs lock saw 
base for accurate 

rip cuts

saw
base

saw 
position 

for 
cross-

cuts

saw 
position for 

rip cuts

for hardware 
sources, turn to 

page 13

toggle clamps make 
it easy to 

reposition saw 
or remove it 

for other tasks

smooth 
sliding 

bearings 
allow for 

effortless 
rip cuts

side view
(cross section)

saw
guide

plastic 
laminate 

feet

crosscut 
Scale

cable connects 
springs to saw 

base

rail  
support 
blocks

saw 
base

sliding door 
rollers guide cable

stop keeps 
saw from 

sliding off 
top rail

2	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.



The blocks that support the long piece of con-
duit are pretty simple. The only thing is you 
want to make sure they’re identical. 

Two at a Time.  I made the blocks from an 
oversize blank, as you can see at right. The 
larger blank is easier to control. The first thing 
to do is drill the mounting holes. Then you 
can drill a couple of larger holes to create the 
“seats” for the conduit. To do this accurately, 
I set up a fence and stop block on my drill 
press (left drawing below).

Notches. Before cut-
ting the blocks to shape, I used the table 
saw to cut notches along the bottom edge of  
the blank, creating tabs to fit the groove in the 
support panel (right drawing below). Then I 
cut the blocks to shape on the band saw. 

OVERVIEW

a.

   building the 

Panel  
Saw Base

1

making sure the finished assembly 
is as flat and straight as possible. So 
I took a little extra time to find the 
flattest sheet of plywood to make 
the support panel. 

After sizing the panel, I needed 
a way to align the support blocks 
perfectly. To do this, there’s a groove 
cut in the support panel. 

Support Blocks. As for the blocks, 
they’re shaped to securely anchor 

the conduit but not get in the way  
of the saw carriage. You’ll find all the 
details you need to make these parts 
in the box below.  

Attaching the Rail. After complet-
ing the blocks, you’re nearly ready 
for assembly. All that’s left is to pre-
drill the rail. The setup I used to drill 
the rail is shown on page 12. Then, I 
used T-nuts and machine screws to 
hold everything together.

Tackling a project the size 
of a panel saw may seem 
a little daunting at first. A 
great way to make it more 
manageable is to break it 
down into  sections. That’s 
what you see here. This 
way, you can use each sec-
tion to build on the next. 

I started by building the 
fixed portions: an upper 
assembly that guides the 
saw carriage and a lower 
one that cradles the panel. 

CARRIAGE SUPPORT ASSEMBLY
The first section to build is the upper 
portion of the panel saw that supports 
the sliding saw carriage. The carriage 
will ride on a 10'-length of EMT con-
duit (Figure 1). This rail is supported 
by a long plywood panel and a hand-
ful of hardwood rail support blocks.

Although the construction isn’t 
complicated, what’s important is 

Rail Support Blocks

3	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.



a.

b.

FIGURE2

PANEL SUPPORT GRID

The upper assembly you just com-
pleted is attached to a large grid, as 
in Figure 2. Besides fully supporting 
a sheet of plywood while it’s cut, the 
grid also has a heavy-duty lower rail 
that the workpiece rests upon.

The Grid. Despite its size, building 
the grid won’t take much time. That’s 
because it’s made from 2x2s. There 
are two things to point out. First, 
the screws are set into deep coun-
tersinks so the saw blade won’t hit 
them (Figure 2a). 

The other thing to mention is that 
the center and outer posts act as feet 
for the panel saw. Each one has a 
simple leveler consisting of a bolt 
and T-nut (Figure 2b). Once the grid 
is complete, you can screw it to the 
upper  assembly. 

Lower Rail. Along the bottom, you 
can see a wide, lower rail. This is 
simply a 10'-long 2x6. 

Along the rail, I drilled a series 
of holes to hold short sections of  
dowel. They support the bottom 
edge of the plywood, as in Figures 2 
and 2b. The dowels aren’t glued into 
the holes so you can replace them if 
they get chewed up.

Stops. Before attaching the rail 
to the grid, I  also installed some 
stops at each end. These are noth-
ing more than short pieces of alu-
minum angle. One is used as a  

workpiece stop. The other two 
prevent the saw carriage from 
sliding off the ends of the rail. 

The lower rail can now be 
screwed to the grid. As you are 
doing this, make sure the rail is per-
fectly parallel to the support panel. 
This will ensure that you get straight, 
square crosscuts.

Cleats. To mount the grid to the 
wall, I made a set of angled cleats 
and attached them to wall studs with 
lag screws. Once they’re in place, 
you can hang the grid and screw 
it down, as illustrated in Figure 2a. 
Then, you can move on to putting 
the sliding carriage together.

4	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.



    sliding 

     Carriage

a.

FIGURE3

4

At this point, the base of the panel 
saw is complete. The next step is to 
build the sliding carriage that rides 
on the rail. This carriage needs to 
have a firm grip on the rail so that 
any cut you make is straight and true. 
But it also needs to slide smoothly for 
precise rip cuts and for easy position-
ing to make crosscuts.

In the drawing below, you can see 
all that goes into making this por-
tion of the panel saw. It consists of 
an L-shaped wood assembly with a 
set of aluminum supports. Bearings 
on the supports allow the carriage 
to glide smoothly along the conduit 
rail (photo above). 

Carriage Top. I started building the 
carriage by making the top. It’s really 
just a thick board with a pair of angled 
grooves cut in it. Each groove is sized 
to accept a piece of aluminum angle. 
The End View drawing below shows 
you just where to make the cuts. 

The exposed leg of each piece 
of aluminum angle has a pair of 
bearings bolted to it (Figure 3). To 
keep the saw carriage level, you’ll 
need to make sure the holes are  

drilled accurately. Then to provide 
clearance for the bearings, I used 3/16" 
washers that I drilled out to 1/4". 

Screw it in Place. The aluminum 
angles should fit snug in the grooves. 
But to ensure they stay in place dur-
ing use, I  drove a couple of screws 
into each piece.

Face. The bearings in the top ride 
on the top of the rail. But for the best 
accuracy and stability, the carriage 
needs to grab onto the bottom of the 
rail as well. To do this, I screwed a 
plywood face to the front of the top. 
Then, I made a pair of aluminum 
angle sections to wrap around the 
rail, as shown in the End View below. 

A Firm Grip. Although attaching this 
assembly of aluminum angle and 

bearings seems simple enough, 
there’s one thing I should point 
out here. The bearings need to grab 
the rail with just the right amount 
of pressure. If the grip is tight, the 
carriage will be too stiff to operate 
smoothly. A loose grip results in 

Smooth Sliding. The carriage rides 
along the rail on three sets of bearings.

5	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.



6	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

FIGURE5

a.

the carriage jiggling as it moves. 
But don’t worry, there’s a simple 
way to get just the right amount of 
squeeze on the rail. 

Here’s how to do it. Start by put-
ting together the lower aluminum 
angle and bearing assembly, but 
don’t screw it to the face just yet. 
Then place the carriage assembly 
on the conduit rail. Now, clamp the 
lower bearing assembly so it just 
touches the rail, as illustrated in 
Figure 4 on page 5. 

Mark & Drill. With a pencil, mark 
the location of the aluminum angle  
on the carriage face, and then 
remove the clamps. 

Now, mark and drill the mounting 
holes so the angle is about 1/32" above 
the line you marked. That should 
give just the right amount of pres-
sure for a solid grip. 

Locking Assembly
There’s only one other part that 
you’ll need to make to complete the 
saw carriage. And that’s the lock, as 
illustrated in Figure 5. 

This simple assembly allows you 
to make accurate crosscuts in a sheet 
of plywood by securely clamping the 
carriage to the rail. And you’ll find 
that making it is pretty simple, too. 

Making the Lock. In Figure 5b, you 
can see the lock starts as a square 

blank. For the lock to fit over the rail 
without binding, I made a hole in it 
that’s a bit larger than the rail. This 
is just a matter of sanding the hole 
after it’s drilled. 

The next thing is to prevent the 
lock from catching on the rail sup-
port blocks as the carriage slides. You 
can do this by cutting away a portion 
of the back edge, as shown. 

The final step is a relief cut. This 
allows the lock to flex a bit to fix the 

carriage in place. And in order to 
get the lock to flex and clamp down 
on the rail, I used a cam clamp, a 
bolt, and some washers, as you can 
see in Figure 5. 

Using a fast-acting cam clamp real-
ly makes setting up the saw for cross-
cuts fast. When this step is complete, 
you can screw the lock assembly to 
the carriage, as shown in Figure 5a. 
Now the only part you still need to 
build is the saw guide.

3

PANEL SUPPORT
A	 Support Panel (1)	 10 x 96 - 3/4 Ply.
B	 Pipe Support Blocks (7)	 1 x 15/8 rgh. - 21/2
C	 Long Grid Legs (3)	 11/2 x 11/2 - 63
D	 Short Grid Legs (4)	 11/2 x 11/2 -  58
E	 Horizontal Grid Rails (4)	 11/2 x 11/2 - 96
F	 Lower Rail (1)	 11/2 x 51/2 - 120
G	 Dowel Rests (19)	 3/4 x 21/2
H	 Wall Cleats (2)	 11/2 x 41/2 - 18
CARRIAGE
I	 Carriage Top (1)	 13/4 x 3 - 20
J	 Carriage Front (1)	 41/2 x 20 - 3/4 Ply.
K	 Lock (1)	 1 x 5 - 5
SAW GUIDE & PANEL
L	 Saw Guide Panel (1)	 20 x 68 - 3/4 Ply.
M	 Left Foot (1)	 1 x 7/8 - 31/2
N	 Right Foot (1)	 1 x 7/8 - 7
O	 Saw Base (1)	 161/2 x 161/2 - 3/4 Ply.

• (1) 11/4" x 10' EMT Conduit (11/2" OD)
• (7) 1/4"-20 x 3" Rh Machine Screws
• (7) 1/4"-20 Pronged T-Nuts

• (16) #8 x 2" Fh Woodscrews
• (51) #8 x 11/2" Fh Woodscrews
• (3) 3/8"-16 Pronged T-Nuts
• (3) 3/8"-16 Hex Nuts
• (3) 3/8"x 4" Carriage Bolts
• (1) 11/2" x 11/2" - 36" Aluminum Angle (1/8" thick)
• (1) 3/4" x 3/4" - 72" Aluminum Angle (1/8" thick)
• (1) 11/2" x 48" Aluminum Bar (1/8" thick)
• (10) 1/4"-20 x 3/4" Rh Machine Screws
• (15) 1/4" Hex Nuts
• (6) R4 Steel Bearings (1/4" ID, 5/8" OD)
• (6) 3/16" Washers, bored to 1/4"
• (11) #8 x 11/4" Fh Woodscrews
• (2) #8 x 11/2" Rh Woodscrews
• (17) #8 x 3/4" Fh Woodscrews
• (1) 1/4" x 2" Lag Screw
• (2) 11/4"-Dia. Steel Patio Door Rollers
• (1) 1/4" x 3/4" Hex Bolt
• (1) 1/4" x 11/4" Hex Bolt
• (1) 1/8" x 3/16" Awning Pulley

• (2) 9/16" x 161/2" x .054" Extension Springs
• (1) 7' x 1/16" Braided Cable
• (2) 1/16" Compression Cable Clamps
• (8) #8 x 3/4" Rh Woodscrews
• (12) #8 x 1/2" Rh Woodscrews
• (3) 48" T-Tracks
• (4) 5/16" x 1" Flange Bolts
• (4) 5/16" Washers
• (4) 5/16" Through Knobs
• (1) 1/4 " Cam Lever w/Washer
• (1) 1/4"-20 x 61/4" Threaded Rod
• (1) 1/4"-20 Nylon Lock Nut
• (2) 1/4" Washers
• (2) Rubber-Insulated Wire Clamps
• (3) Toggle Clamps w/Screws
• (4) 3/8" x 6" Lag Screws
• (4) 3/8" Washers
• (1) 4' Self-Adhesive Measuring Tape
• (1) 12' Self-Adhesive Measuring Tape
• (1) 12" x 12" Plastic Laminate

Materials & Hardware

b.



during a cut. The tracks also add 
rigidity to the assembly.

There’s one other thing about 
attaching the T-tracks to point out. 
Since the guide is longer than the 
48"-long T-track, you’ll need to use 
two pieces for each side of the guide. 
And to keep the saw base from snag-
ging on the joints, it’s a good idea 
to stagger the joints — one at the top 
and the other near the bottom.

You can see how I  screwed the 
tracks to the guide in Figure 7 on 
page 8. The key is to position the 
tracks parallel so the saw base can 
slide smoothly. 

To do this, I  used a plywood spac-
er. (Later, you’ll make the saw base 
out of this spacer.) After attaching one 
track flush to the edge of the guide, 
I  set the spacer down next to it, and 
then screwed the other track in place. 

Feet. Before attaching the guide to 
the saw, I made a pair of feet for the 
bottom of the guide. These feet sup-
port the guide so it’s parallel with 
the piece being cut. 

But plain wood feet wouldn’t 
slide smoothly on the lower rail. So 
to keep the sliding assembly running 
as smooth as possible, I glued a piece 
of plastic laminate to the bottom of 
each foot (Figure 6b). 

{  Two-Position Base. The 
circular saw clips into the base 
with toggle clamps for ripping 
and crosscuts.

    building the 

    Saw Guide 

2

All that’s left to build is the busi-
ness end of the panel saw — the saw 
guide and saw base. These are both 
shown in Figure 6 at left.

As the name implies, the saw 
guide both positions the saw for rip 
cuts and provides a smooth, straight 
path for making crosscuts. The saw 
base is really just a large plywood 
plate that rides between T-tracks on 
the saw guide. 

Saw Guide. I built the saw guide first. 
In Figure 6, you can see that it con-
sists of a long plywood panel with a 
parallel set of T-tracks to guide the 
saw base (more on this later). 

Cutout. After sizing the guide, the 
next step is to provide clearance for 
the saw blade. So there’s a large cut-
out in the guide. Now, you could 
make this cutout in a few different 
ways. But I chose the table saw to 
complete the task. 

The reason I did it this way is to 
get clean edges that are parallel to 
the outside edges of the guide. You 
can find the step-by-step process on 
page 11. (Later, I’ll use the edge of 
the cutout to mount the saw guide 
to the sliding carriage.)

T-Track. After making the cutout, 
the next step is to attach some 
T-track to the sides of the guide. 
These will act like railroad tracks to 
help the saw run perfectly straight 

b.

a.

7	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

OVERVIEW

6



8	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

Mounting the Guide. At this point, 
you’re ready to attach the guide to 
the carriage. To ensure accuracy, 
you want to make sure the guide 
is mounted square to the lower rail. 
You can see how to do this in the 
box below. 

Saw Base
The other part of the saw guide sys-
tem to make is the saw base. It fits 
between the T-tracks mounted on 
the guide, as in Figure 7. 

This extra-large baseplate has  shal-
low pockets in it to hold the circular 
saw in one of two positions. One 
great feature of the base is that the 
saw is attached with toggle clamps. 
This lets you quickly reposition the 
saw to switch from ripping to cross-
cutting (or vice versa).

Making the Base. To make the base, 
start with the spacer you made ear-
lier. Then cut it to final size, as illus-
trated in Figure 7. 

To provide enough depth of cut 
for the saw, I routed shallow pockets 
in the base. These have the added 
benefit of holding the saw in posi-
tion for cutting. Turn to page 12 to 
see how to do this.

Rabbets. After routing the pockets, 
I cut a rabbet on each side of the  

Square up Saw Guide to Plywood

To make sure the panel saw cuts 
square, you need to take extra care 
when attaching the guide to the car-
riage. The two drawings at right 
show the steps I took to mount it. 

Pivot Point. With a single screw, 
attach the guide in the center to act 
as a pivot point, as illustrated in 
Figure 1. A couple of playing cards 
act as shims to give you some room 
for adjustment. 

Alignment. Next, place a sheet of 
plywood with a square edge on the 
lower rail. Using a square, pivot  
the guide so the inner edge of the 
cutout is flush all along the edge of 
the plywood panel. Once the guide 
is square, you can drive a few more 
screws into the carriage to lock the 
guide in place (Figure 2).

1

2

FIGURE

7

saw base. The rabbets are sized 
to hold a piece of aluminum bar 
stock. The aluminum is screwed to 
the base and drilled to accommo-
date the flange bolts, washers, and 
knobs, which are used to attach the 
base to the T-tracks. 

The last things to add to the base 
are a few pieces of plastic laminate. 
Like the feet on the saw guide, these 
are attached to the underside of the 

base so it slides smoothly along the 
guide (End View above). 

A Few Improvements. At this point, the 
panel saw is pretty much complete. 
And you could put it to use as is. 
But you’ll find that you’ll get bet-
ter results and have greater control 
if you add the extras (including a 
suspension system, a cord guide, 
and measuring tapes) shown on the 
next two pages. 



point, I mounted a pulley that redi-
rects the cable after it comes up from 
the springs. This pulley is a patio 
door roller that is attached to the saw 
guide with a lag screw. 

Another patio door roller is 
mounted to an aluminum L-bracket

9 a.

>  Counterbalance. A simple 
system of pulleys and springs 
carries the weight of the saw 
making cuts almost effortless.

     completing the

     Panel Saw
Cable Hook.
The cable is 

attached to the 
saw base with
a hook made 

from a piece of 
aluminum angle.

FIGURE8

Getting the panel saw ready for 
action is just a matter of adding a 
few details. These will make the saw 
easier to control and more accurate. 

Supporting the Saw. With the saw 
in place on the base, it can be a bit 
heavy during use. To lighten the load 
so it’s easier to use, I made a “suspen-
sion system,” as you can see in the 
photos at right.

It’s basically a spring and pul-
ley setup that acts like an old-fash-
ioned window weight to balance 
the weight of the saw. This way, the 
saw will be easier to manage as you 
make a crosscut.

To hold the springs in place, I used 
a leftover piece of T-track. You can 
make “hooks” for the springs in the 
T-track with a hack saw and file, 
as you can see in the lower photo 
at right and Figure 9a. To connect 

a.

the springs to the saw base, I used 
a system of pulleys, brackets, and a 
strong, braided cable.

Pulleys. But before cutting the cable 
to length, it’s a good idea to position 
the hardware so you can get the saw 
balanced just right. 

The first thing I did was locate 
the anchor point for the cable on 
the saw guide. Directly above this 

b.

9	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.



10	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

Installing the Measuring Tapes

that’s screwed to the top of the  car-
riage assembly (Figure 8a, page 9). 

The anchor point for the other end 
of the cable is an aluminum bracket 
located on the saw base. To make 
sure the cable won’t come off the 
bracket, I shaped the hook to look 
like a dovetail, as you can see in 
Figure 8b on the previous page. 

With all the connection points set, 
the last thing to do is to connect the 
springs to a pulley. For this, I used a 
bolt and a few nuts (Figure 8, page 9). 

Size the Cable. Now, you’re ready to 
connect all the parts with a length 
of cable. The cable needs to be 
sized so that the springs balance 
the weight of the saw.

Here’s how I did this. First, I 
attached the circular saw to the base 
and positioned the base about an 
inch below the top bracket. Then I 
made a loop in one end of the cable 

Making accurate cuts on the panel 
saw depends on locating the mea-
suring tapes precisely. As you can 
see in the drawings below, there’s a 
simple way to do this. 

10

1

2

and connected it to the anchor point 
on the guide.

After threading the cable through 
the pulley on the springs and 
around the upper rollers, pull the 
cable to extend the springs about 
12". Now, mark the cable where it 
meets the hook on the saw base. 
Finally, you can release the tension, 
cut the cord to length, and then fin-
ish it with a loop. 

Cord Guide. The spring system  
takes care of the weight of the saw. 
But I wanted to keep the power 
cord out of the way as well. This 
way, it won’t get snagged in the 
middle of a cut.

To do this, I used a set of rubber-
lined clamps attached to a brack-
et on the carriage, like you see in 
Figure 10. This allows the power 
cord to drape behind the grid, safely 
out of the way. 

Crosscuts. I placed the tape for 
making crosscuts on the top rail 
support (photo at right). To indi-
cate the saw’s position, I screwed 
the aluminum indicator to the car-
riage assembly. Then, to find the 
“zero” position, you’ll need to slide 
the saw down and align the edge of 
the blade against the aluminum stop 
on the lower rail. You can see this 
in the Top View of Figure 1. This is 
the starting point, and you can now 
press the tape in place. 

Rip Cuts. The process is almost iden-
tical for rip cuts. After putting the 
saw in the rip position, rest the edge 
of the blade on the top of a dowel 
(Figure 2). Here, I placed the tape 
on the saw guide and used the top 
of the saw base as the reference line, 
as in the far right photo.

Measuring Tapes. Finally, in the box 
below, you can see how I added a 
pair of measuring tapes to set up 
for accurate cuts.

Apply tape to support 
panel so “zero” is at the 
edge of the indicator

“Zero” mark 
should start 
at top of  
saw base



Saw Guide  
Cutout
There were a few things about 
building the panel saw that had 
me scratching my head. 

The biggest challenge was finding 
a way to make the cutout in the slid-
ing saw carriage. You could make 
this cut with a jig saw. But I wanted 
a straight, clean edge. 

Plunge Cut. The answer was 
to use the table saw. In a nutshell, 
this involved raising the blade up 
through the workpiece. But making 
a blind cut like this calls for careful 
setup. I started by drawing the cut-
out on the workpiece, extending the 
end lines to the edge of the panel, like 
in the photo above. 

Next, with the saw turned off, 
I raised the blade to its highest posi-
tion and marked the location of the 
back edge of the blade on the rip 
fence, as you can see in the photo 
above and the drawing at right. 
Then I positioned the rip fence to 
make the first cut.

Making the Cut. Before turning 
on the saw, I lowered the blade below 
the table. Then, I aligned the layout 
line of the workpiece with the mark 
on the rip fence. Finally, I clamped a 

hold-down to the rip fence to keep 
the workpiece flat on the table. 

To start the cut, turn on the saw 
and slowly raise the blade up to its 
highest position. Then you can make 

the cut. When you reach the end  
of the cut, turn off the saw. 

End Cuts. After cutting the other 
side, you can cut the ends. These 
aren’t critical, so I used a jig saw. 

  Shop
Short Cuts

11	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

              tips from 
                 Our Shop

a.



12	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.

One other challenge I came across 
while building the panel saw was 
making the saw base. To hold the  
circular saw securely on the base, 
it sits in a shallow pocket made for 
both the rip and crosscut positions. 
The saw is held in place by a set of 
quick-release toggle clamps. 

Making the base blank is pretty 
straightforward. It’s just a small 
piece of plywood. The trick is mak-
ing the pockets for a hand-in-glove 
fit. But with a router and a short pat-
tern bit, you’ll find that the solution 
is no trick at all.

Create a Template. To begin with, 
place your saw in the crosscut posi-
tion on the base. Just be sure the 
blade is parallel to the edge. Then 
you can create a template by cut-
ting strips of 1⁄4" hardboard to wrap 
around the saw base. Carpet tape 
will hold them in place, as shown 
in the top drawing at right.

Rout the Outline. Now, with the 
pattern bit, rout the outline of the saw 
base (second drawing from the top). 

Next, peel off the strips and place the 
saw in the rip position. Then repeat 
the routing process. 

Remove the Waste. With the out-
line of the pockets established, you 
can clean up the remaining waste. 
For this, you’ll need to remove all 
the strips and reset the bit depth to 
match the outline grooves you just 
made. Then, starting at one end of 
the pocket, work the router back 
and forth across the waste until you 
have a clean, flat recess. For most 
saws, 1⁄4" should be fine. But if the 
saw has raised edges at the front 
and back end, the recess may need 
to be deeper.

A Few Tweaks. Before attach-
ing the toggle clamps, you might 
need to square up the corners of 
the pockets with a chisel. Then, 
depending on the saw, you may 
need to rout additional relief pock-
ets for the handle or motor to allow 
your saw to sit flat in the pocket. 
You can trace the outlines and rout 
the recesses freehand. 

Drilling  
Carriage Rail 
The key to cutting accurately with 
the panel saw is to make sure 
that the conduit the saw carriage  
rides on is mounted flat and 
straight. To do this, you need to 
drill the holes straight through 
the conduit. At the same time, you 
also have to drill the holes in line 
with each other. 

Drill Guide. To take care of the 
first problem, I  made a drilling 
guide (drawing at right). The guide 
slips over the conduit and has a 
cross hole that I drilled at the drill 
press to guide the bit. Now, it’s just 
a matter of sliding the guide to the 
right location and drilling the holes 
with a hand drill. 

Index Block. To keep all the 
holes in the same line, I made a 
long index block like you see in the 
drawing above. It’s basically a lon-
ger version of the drilling guide.  

To use it, start by drill-
ing the first hole with the 

drilling guide. Then position the 
index block over the conduit and 
drive a screw through the hole 
in the conduit to hold it firmly 
in place, as shown in the above 
right detail. Now, move the guide 
over to the next hole location.  

Panel Saw:  
Creating a Pocket

To drill the remaining holes, all 
you need to do is move the drilling 
guide. The index block keeps 
the rail in the same posi-
tion for perfect hole 
alignment. 



Woodsmith Store
800-444-7527

Rockler
800-279-4441
rockler.com

Amazon
amazon.com

Woodcraft
800-225-1153
woodcraft.com

MAIL 
ORDER 

SOURCES

Project Sources
You’ll be able to get almost every-
thing needed to build the panel saw 
at your local hardware store or lum-
beryard. But there are a few pieces 
of hardware you’ll probably need to 
order to complete the project. The 48" 
T-track (20054), the 5⁄16" cam clamp 
(58252), the 5⁄16" x 1" T-bolts (33965), 
and the 5⁄16" x 1" knobs (34121) came 
from Rockler.

You can find the 6' self-adhesive 
tape measure (B00175RT58) on Ama-
zon. And Woodcraft sells the toggle 
clamps (152929).

Manufacturers and retailers will 
periodically redesign or discontinue 
some of their items. So you'll want to 
gather all the hardware, supplies, and 
tools you need before you get start-
ed. It's easy to adjust dimensions or 
drill different-sized holes to suit your 
hardware.

13	 WoodsmithPlans.com	  SN08816	 ©2014 August Home Publishing Co. All Rights Reserved.


